Review Probability Name l ’<<€,\/ Period

Evaluate and show the set up.
L 7P3 = 35 2.,P5 =2520 3. ¢, = 2|

4. The company Sea Esta has ten members on its board of directors. In how

many different ways can it elect a president, vice president, secretary and

treasurer? o = - 5040

1-

5.  Inthe Long Beach Air Race six planes are entered and there are no ties, in
how many ways can the first three finishers comein? - S:4 =15 O

6. Afour person committee is to be elected from an organization’s membership
of 11 people. How many different committees are possible? \\Cy = 334

7. There are 12 standbys who hope to get on your flight to Hawaii, but only 6
seats are available on the plane. How many different ways can the 6 people be
selected? |, (., - o Y

= i.c:\ : 1 &

8. The model car you are thinking of buying is available in nine different colors
and three different styles. In how many ways can you order the car?

Q. 3 =2 g

9. ADook club offers a choice of 8 hooks from a list of 40. In how many ways
can a member make a collection? anlCa = 14 8muLee
0L B & y L. oD 2

10.  Suppose you find seven articles related to the topic of your research paper.
In how many ways can you choose 5 articles to read?

11. 1Ce = 2] _
a. How many total outcomes are possible?
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Given the data collected from 200 individuzls concerning whether or not to extend the
length of the school year in the table below answer the questions

\ For | Acgzinst l Ko Opinion |
Youth {5 ta 19) | 7 35 12 54
Ldults (20 to 55 20 27 20 17
I Seniors (55 +) 25 16 28 &9
I | o2 1% tail) 200

i2.

13. Given that conditdon that a person is zn adult what is the prohahility that they are in favor of
extending the scl’.:oul year? P{For|Adulf) = 20 /

15. What is the probability that a person has no opinion given that they are a youth?
P {no opinion| vo :_ =

16. The most important meal of the day.

Key:
Male = M femele=F
Ezts Brezkfast=E Doesn't Eat Breakfast =D Eats Doesn't Total
Szmnlesize = [,;ﬁ"? 111 -

z 1y B B Y L = P
P(E) = 3cl PR 2L 2477 178 | yzs

{0 g 5 t‘{ 2 5 - .
Female L = 2L
P(EMM)= zu1  PE[F)= 5y oY 15L | 260
bg 5 260 Total 35 | 323 :7/ 685
P(ENF) loH
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17.  Whatis the probability of selecting a King from a deck of cards followed by a

107 with (eplacement w/o re placement
Pou S d : < il 3
¥ { [ L= - . { 7~
Y \ & "!j < 0059 4.4 = _La = ,000
\s2/\ 52/ 144 52 S| e?

18. Two cards are selected from a deck of cards. First a red card is chosen and
without replacement a queen is chosen. What is the probability?

/ A
L (4N e ~20-
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19. Three numbers are chosen from cards numbered 1-10. First a three is
chosen and without replacement a two is chosen and notreplaced and then a 10 ig
chosen. What is the probability?

¥ i 8 \ M Ay DR
e ila N /g ) & LO1L 3%
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20. Whatis the probability of flipping a coin and getting heads three timesin g
row? N U NN L Y

| \ ¥

The fallowing data represents the number of men and Women passengers aboard the titanic
and whether ernot they survived.

21
Survived Did not survive Taotzl
Mer 1454 659 BL5
Women 2586 106 402z
Tota 447 | 765 1207
pi’f;&”j — e
PE‘EJ = 1
P(s|w] = |
1‘.{ & [ Py
Plworsj= uo 44 o4
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PO= Y4
P(7)= /7
Calculate:
51 \20 3! (, . B

On a die numbered 1-6, what is the probability of not getting a 3?

£/
Y/,
2

What is the probability of getting a 7?

O

The table shows patient data for red-green color

) , . M M’ Total
blindness in one doctor’s office.
C 42 4 46
M: means male M’: means not msalz
C: means colorblind  C': means not color blind C 363 591 954
Total 405 595 1000
Find the following probabilities: Draw a Venn diagram to represent the given data.
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Review for 101-103 8 11.1 Quiz

L Alunch many consists of 4 dif,nr‘“m kinds ors;ndmc#es 3 different kings of soup, and 2 differe
many choices zre thers for ordering a sandwi ch, a bowl of S0up, and a grink?

L[ 4 5 -] 2 :: Q__ L[

Seaun d SouyD p} 1Al

2. Whatis the probability of rolling an odg number if you roj| a SIX—SJQ=d die with s dﬁ; numb=red rom 1 through
+ 5

3. You have an eg qually likaly chanca of choosing any number from 1 1o 15, What is the probabj

lity that you choose
2 number graater ths n 97

C('\DO Se ! o
‘D (% i } \ll —-~’L' = .,__(.“_
ke, |15 5
4. Acoinis tossad &nd 2 dia is rolleq, What is the probability that tha coin shows tzils and the dis shows an odd
number?
Lo B . 4
7 (o L
5. Evaluate: 10! = Yo

5les]

[9)]

You have an equally likely chance of choosing any number from 110 12, What is the probability that you chooss
@ number less than 57 '

Chposge H f.

7. Tell whether the evenis are Indzpendent or dependent, Then answer the question.
2. Two urns both contain red balls ang white balls, Urn | Contzins 4 red ballsand 6 white balls, ang Urn 1l

contains 5 red balls ang 3 white balls. Aballis drawn from each urn. What is the probability that both
balls are whita? N e 3 | o a
| \ g T = F 8 . — A= ;1985
‘.f’.ﬂfr rde }!l (AR ew}, Sk J‘N lo =) <0 ",", ») Ll i

b. Adrawer contzins 9 hlack socks, 7 gray soc cks, and 5 biya socks. Without looki Mg, you draw oy
and then draw out 2 sécond sock withouyt returning the first sock, What is the probability
socks you draw out are the same color?

tasock
that the two
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8. Ajarcontains 3 red marbles, 6 blus m—rbim 5 green marbles, and 1 black marbla.
— e kst is ‘the ilit

—

5 Wh BERe D]’T 7

a7
Lap B, . T
s s " Is
¢ Findthe probability of selecting a black, then ablue marble:. L~ . & &
L 1fth H-T:‘.SL marble is replaced after being slected: = 5 T8
N .
T T T T T the first marble 1S not replaced eftar bElRg sElcted: 15 T g T 25 T

d. Find the probzbility of selecting 2 blue marble, then another blus marblé:@ 7 Lf/
i. If the first marble is replaced after being selacted: ofis + “hs = 25

b . 5 - |
ii. Ifthe first marble is not replaced after being szlected /s /ﬂH‘ B /7
9. Inhow many ways can 10 runners finish 1%, 2™ 37 and 497 (HINT: Does the order matter??? if it does, uss

Permutations; if order does not matter, use Combinztions)

\O PL{ - 5040

10. In an activity club, with 20 students, the offices of president, vice-president, sacrafary, znd trezsursr will bs
fillad. In how many ways can the offices by filled?

20 Pq = Y\, 28O

11. How many different license plates are possible if three digits are Lollownd by two letters?
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72, How many msmgulshablep rmutations of the letters in SUMIMER aF&'there?
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Acc Math T Name
Permutations and Combinations Workshee+

e SN

I Evaluate the Tollowing:

BE | oy 10

714]
120 ’2) = a0 ) G = 24
II. Permutations
4) Evalugte: a),P, = UO B) ol 90 ] B 1795
5) In how many different ways can 7 floats line up for the homecoming parade.
% =soun
6) In how many Ways can 4 of 7 different kinds of bushes be planted along a walkway?
5.4 = Qup

7) Four processes are involved in assembling a certain product and they can be performed in
any order. The management Wants to test each order to determire which is the least time
consuming. How many different crders will have o be Tested?

| -
41 = 2y

8) A club with 10 members is 1o choose 3 officers- president, vice-president and secretary.

If each office is o be held by 1 person and rio person can hold mere than one office, how

many ways cen these offices be filled?

L. =725

o VVa
- 3

9) A corporation has 10 members on its board of directors. In how many differ
can it elect a president, vice-president secrefary and treasurer?

ent ways

10) For a segment of q radio show, a disc Jockey can play 7 songs. If the

re are 13 songs to
rom, in how many ways can this segment be arrangeq?

O
o
o
0
®
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2P7 = 2,648,040

11) Suppose you are asked to list, in order of preference, the three best movies you have
seen this year, If You saw 20 movies, in how Mmany ways can the 3 best he chosen and

ranked?
20 Pg - o 340
12) How many arrangements of 4 letters from The word COMBINE if no letter is used more
than once?
7Py = 840




13) How many distinguishable permutations are pessible using the leiters of the following

L]
words: q |
e bl = 720 1o dti ot 9! - 15, 120
o ATHENS & = 7 ) BBETIVTE 57751 15,12¢C
A, — T | = i it i
b) EASKETEAML 9% = d) ICICLE L~ 130
212121 453,600 2T 5F
14) A roofing company has 8 roofing jobs to complete in the next 2 months.
a) Inhow many different orders can the roofing jobs be completed?
i_;! '| - li ,j . ff"_. ,l.) l.-}
b) If 5 of the 8 roofing jobs can be completed by the end of the first month, in
how many different ways can the first 5 jobs be selected?
&
3rg = 720
15) How many vertical arrangements are there of 8 flags if 4 are white, 3 are blue and 1
is red? \ : . . TR T 2 :
is red: J‘r’r‘: at LWhe @ dishnauishalole i ervul Q’h Ly
:‘: C “_! oY = LA e g\t‘ w i A l\ & :‘) e Y: ”"C‘-'\ = ‘\l 1.0
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16) Your friend is having a party and hes 15 games o choose from. There is enough time o
play 4 games. In how many ways can you choose 4 games to play?
sCy = 1365

17) There are 20 members in a club. Five people are selected to go 7o the state conference.

20(s = 15,504

18) Your English teacher asked you to read 3 novels from a list of 10. In how many ways can
you choose which books to read?

)
ol3z = 120
19) The general manager of a fast-food restaurant chain must select 6 restaurants trom 11
a

for a promotional prooram. How many possible ways can This selection be done?
-

\1C{a = Ho2

20) How many ways are there to select 3 bracelets from a box of 20?

20(:3 = 140
21) How many different ways can a theatrical group select 2 musicals and 3 dramas from 11

musicals and 8 dramas?

WC, » gy = 3080
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